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1. insangileesassnzae 1l

D=

(a) 99198U Truth Table

(b) 5192995 1131 T 149119 Logic Gate 111io8ad

(©) 75192993 Iae 1411z NAND gate 1182 Inverter

(d) 5192995 lae ¥Rz NOR gate 1Ay Inverter

2. 93W8UF121995 CMOS Ansulansu £ = X0 +2)

3. vafiguilaunisde il

(a) A'BD'+BCD+ABC'+AB'D = BC'D'+AD+A'BC

(b) A'BC'D+(A"+BC)A+C'DV+BC'D+A'BC' = ABCD+A'C'D+ABD+ABCD'+BC'D
4. RIS UAGIRY 4-bit shifter Tuar'ladHih 36 Y99 Boolean algebra
(a) 99198U Truth Table

(b) 5192995 laeldan1e NAND gate 110 e Inverter

(©) 75192993 Iag1H1nm1z NOR gate 1A Inverter



